‘ SUBTRACT I



Section A
1 15 - 4
2 16 - 2
3 16 - 3
4 -7
5 17 - 1
6 18 - 7
7 14 -1
8 17 - 3
9 12 -1
10 40 -1
1 49 - 4
12 24 -1
13 9% - 2
14 37 -9
15 99 -1
16 14 -5
17 67 -7
18 12 - 4
19 23 -5
20 54 -1
21 52 - 2
22 92 -5
23 37 -6
24 88 - 4
25 61 - 8

SUBTRACTING

Section B
1 35 - 22
2 74 - 13
3 94 - 23
4 40 - 12
5 68 - 19
6 73 - 13
7 88 - 19
8 93 - 21
9 86 - 16
10 42 - 22
11 69 - 19
12 41 - 12
13 91 - 18
14 40 - 22
15 68 - 17
16 28 - 22
17 86 - 15
18 32 -21
19 78 - 19
20 64 - 22
21 41 - 23
22 99 - 11
23 41 - 17
24 25 - 14
25 42 - 13

Section C

1 9946 - 216
2 7364 - 297
3 7838 - 443
4 2440 - 422
5 3706 - 233
6 7428 - 143
7 8652 - 429
8 1279 - 349
9 5471 - 494
10| 3476 - 368
11 1723 - 148
12| 8958 - 284
13| 9237 - 109
14| 4647 - 361
15| 8543 - 269
16| 9427 - 304
17| 4554 - 190
18 | 8406 - 177
19 1156 - 129
20| 1544 - 349
21 1445 - 155
22| 9468 - 29

23| 6199 - 333
24| 8149 - 105
25| 4561 - 91




Section D
1 500 - 45
2 300 - 26
3 800 - 59
4 100 - 23
5 500 - 4
6 900 - 46
7 900 - 74
8 900 - 29
9 100 - 24
10 600 - 5
11 150 - 93
12| 6000 - 700
13| 9000 - 208
14 | 9000 - 826
15| 5000 - 637
16 | 6000 - 707
17 | 3000 - 433
18 | 5000 - 533
19| 7000 - 290
20| 10000 - 5491
21| 50000 - 3311
22| 40000 - 416
23| 40000 - 92
24| 50000 - 9109
25 | 190000 - 842

SUBTRACTING

Section E
1 709 - 17
2 831 - 11
3 50.6 - 2.5
4 25.2 - 4.8
5 38.6 - 29
6 | 6136 -203
7 | 6858 - 4.65
8 | 2847 -318
9| 97.35-251
10 9.3 - 1.12
11| 9274 -379
12 6.19 - 0.22
13| 3221-177
14| 723 -013
15| 7254 -184
16| 3632 - 158
17 811 - 0.22
18| 725 - 413
19 861 - 3.9
20| 8557 - 16
21| 1828 - 25
22| 6117 - 472
23 653 - 3
24| 2569 - 3.634
25| 9192 - 26

Section F
1| 708.63 - 271
2 | 37773 - 216
3 | 515.09 - 3.34
4| 41519 - 27.8
5 | 625.35 - 3.75
6 | 376.42 - 1.63
7 | 12851 - 0.45
8 | 976.26 - 0.12
9 | 60056 - 1.92
10| 788.11-13
11| 272.67 - 4.88
12 | 15653 - 3.86
13| 11657 - 4.66
14 | 4817.3 - 251
15 500 - 1.39
16 | 7200 - 4.1
17 | 20000 - 0.8
18 | 2.0004 - 0.87
19 | 0.9005 - 0.006
20 800 - 3.989
21 0.6 - 0.3405
22| 70000 - 0.094
23| 002 - 0.0002
24 5 - 0.0047
25 200 - 3.8357




SUBTRACTING ANSWERS

Section A Section B Section C Section D Section E Section F
1 1 1 13 1| 9730 1 455 1| 69.14 1 | 705.92
2 14 2 61 2 | 7067 2| 274 2 | 8201 2 | 37557
3 13 3 71 3| 7395 3 741 3| 4802 3 | 51175

4 4 4 28 4 | 2018 4 77 4 | 20.44 4 | 41241

5 16 5 49 5 | 3473 5 | 49 5 | 35.65 5| 6216

6 1 6 60 6 | 7285 6 | 854 6 | 59.33 6 | 37479
7 13 7 69 7 | 8223 7| 826 7 | 63.93 7 | 1284.65
8 14 8 72 8 | 930 8 871 8 | 25.29 8 | 976.141
9 1 9 70 9 | 4977 9 76 9 | 9484 9 | 598.644
10 39 10 20 10 | 3108 10| 595 10| 818 10 | 786.81
11 45 1 50 1| 1575 11 57 11| 8895 1 | 267.79
12 23 12 29 12| 8674 12 | 5300 12| 597 12 | 152.67
13 94 13 73 13| 9128 13 | 8792 13 | 3044 13 | 11191

14 28 14 18 14 | 4286 14 | 8174 14 | 7217 14 | 4792.2
15 98 15 51 15| 8274 15 | 4363 15 | 70.70 15 | 498.61
16 9 16 6 16 | 9123 16 | 5293 16 | 3474 16 | 7195.89
17| 60 17 71 17 | 4364 17 | 2567 17 | 80.88 17 | 19999.2
18 8 18 11 18 | 8229 18 | 4467 18 | 68.37 18 | 1.1304
19 18 19 59 19| 1027 19| 6710 19 | 857.10 19 | 0.8945
20| 53 20| 42 20| 1195 20 [ 4509 20 | 8555.40 20 | 796.011
21 50 21 18 21| 1290 21 | 46689 21 | 180.30 21 | 0.2595
22| 87 22| 88 22 | 9439 22 | 39584 22 | 606.98 22 | 69999.9
23 31 23| 24 23| 5866 23 | 39908 23 | 650.00 23 | 0.0198
24 | 84 24 11 24 | 8044 24 | 40891 24 | 2565.37 24 | 49953
25| 53 25 29 25 | 4470 25 | 189158 25 | 916.60 25 | 196.164




There are 114 fir trees in the park.
Park workers will plant 120 more fir
trees. How many fir trees will the
park have when the workers are
finished ?

Jo has 760 marbles, he gave Nancy
424 of the marbles. How many
marbles does he have left ?

Seb has 828 football cards.
Sandy bought 454 of Seb's
football cards. How many football
cards does Seb have now ?

Mary's school played 151 netball
games this year. She attended 98
games. How many netball games did
Mary miss ?

There are 104 rulers in the drawer.
Freya placed 47 more rulers in the
drawer. How many rulers are now
there in fotal ?

Kelly picked 95 apples and Sam
picked 79 apples from the apple
tree. How many apples were picked
in total ?

Sean had no pencils so he bought a
pack of 60 pencils. He broke 15
pencils and threw them away. He
lost 6 pencils and sold 5 pencils to
his pal Fred. He found 4 pencils in
the playground. How many

pencils did he have left ?

Sam found 745 seashells on the
beach. he gave Sally 274 of

the seashells. How many seashells
does he now have ?
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Greig had £15.56 and Sarah had
£12.45. How much money did they
have between them ?

Laura saved a total of £167.21 from
her tips. She bought a game costing
£24.50. How much money does she
have left ?

Harry cuts a length of 34.5 cm of f
of a 3 m ball of string. How much
string is still on the ball ?

You spend £6.25 on a scarf. You
now have £7.75 left. How much
money did you have originally ?

A sandwich has two slices of bread
with a layer of meat between them.
Each slice of bread is 1.3 cm thick,
and the meat is 0.5 cm thick. How
thick is the sandwich ?

Mr Tulips bought £87.12 worth of
groceries. However, he had coupons
worth £9.85. How much did Mr
Tulips spend for the groceries ?

A band can play as much as 10
minutes of music in a competition.
If the band plays a 3.23 minute
song and a 4.5 minute song, how
many minutes does it have left ?

You receive £50 for your birthday.
You buy a €D for £14.95 and a cap
for £24.95. How much money do
you have left ?

Candy had £940.27 in his bank
account. He withdrew £90 cash and
and £123.78 was used to pay his car
insurance. Find his new balance.
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Sally cuts a piece of string into

2 lengths. One is 5.2 cm long, one is
7.9 cm long. How long was the string
before it was cut?

Mary joins 2 lengths of wood
together. One is 28.4 cm long, the
other one is 2.8 cm long. How long is
that altogether ?

Mrs Burton weighs her suitcases
ready for her holidays. It weighs
10.3 kg. She takes out boots that
weigh 1.6 kg. How heavy is her
suitcase now ?

I have 2 bags of sweets. One weighs
54.1 g; one weighs 9.9 g. How much
do they weigh altogether ?

Cheryl collected 35.6 ml of rain on
Sunday. 1.7 ml of water evaporated
overnight. How much rain was left in
the beaker on Monday ?

Ryan has 2 friends. Laura is 1.39 m
tall and Sadie is 1.56 m tall. If they
both stood on top of each other
how high would they be ?

Mr Lowe weighed 61.5 kg after
Christmas. He went on a diet and
lost 2.9 kg. How much does he weigh
now ?

In a school one corridor is 16 m
long, another is 14.8 m long. What is
the sum of their lengths ?
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In a gymnastics competition Tom
scored 11.6 points on vault. Ahmed
scored 2.9 points fewer that Tom.
What was Ahmed's score?

Jody has a ribbon that is 22.6 m
long. Rex has a ribbon that is 3.81 m
shorter. What is the total length of
the two ribbons?

Jug A has 2.24 litres of water and
Jug B has 0.68 litres less water
than Jug A. Find the total volume of
water in the two jugs.

A fir tree is 6.6 metres tall and an
oak tree is 2.9 metres shorter than
the fir tree. Find the total height
of the two trees.

Sack A contains 34.5 kg of potatoes
and Sack B contains 6.7 kg more
potatoes than Sack A. Find the
total mass of potatoes in the two
sacks.

Brooke saved £155.39 in June and
£172.98 in July. Then she bought a
bicycle for £195.80. How much of
her savings from June and July was
left ?

Tania's mass was 46.9 kg and Eliza's
mass was 51.2 kg. Six months later,
Tania gained 1.8 kg, but Eliza lost
2.1 kg. Find their new total mass.



